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 �(   m�n� og! <2����S� <�3��� 5��� �� pe	�� q�/�� �&f U ���	��� ���(HRP) 1	+" 27 500 E! ���	��8 
 ��'�'! r��%! ��*� sR a����� qZ�/tD)�ug� @&i�� 1(U  

  �����  

1   �+Y� -�. �� ����� ��
�! E!(EPOs) �v	e ��/�/. ��"�� ��&�'S ���4 d! �� ��w� @8 J�� �/�B+�� ULlink 
4 �� ���4
�� ��K3�� 6 ��$����@��	���4 <2����S� <�3��� 5���  <2����S� <�3���(HRC) 1	+" 27 500���	��8  U

 ������� �+'�	" �F3��7�'� �&f(1) q�/��4  ;�N�	�� 14�
>� 614 !1 �$ug� ^SDH ���	��� H�4 �$$Q�� ITU-

T G.828  q�/��4 ;�N�	�� 14�
>� 624 !2x� ^�$ug  ���	��� H�4 �$$Q��ITU-T G.826.  

  

 @&i��1  

 �	 
���� �
��� ������� ������ �������� ������ ����(HRP)  

1668-01

  
  

 1	+�� y��� 
0�Llink 	� ��/�/0� ���0� sR ��
��� ��D�/� @$����� km 50 = Lmin.  

  jRlinkj CLLBEPO +×= )/(  (1) 

-�.:  
  1 = j   @3! ��km 1 000 ≥ Llink ≥ Lmin   {'	�� 
�B�  
  2 = j   @3! ��Llink > km 1 000  {'	�� 
�B�  
  3 = j   @3! ��km 500 ≥ Llink ≥ Lmin   <|�F�g� 
�B�  
  4 = j   @3! ��Llink > km 500  <|�F�g� 
�B�  

������  
��	
� ���
���

(PEP) �����1


���  
������  

���� ��
(PAE)

�����  
��
�  
(LE)


�����  
����!�
"#$��  
��	
�  
(NPCE)

%&
� 
'()  

�*�+,-� 
(TIC)

 ./$��� 0��� ����� 0���  ���-  

 �����1 1�� �23 4���,/ �5  '(6 %&
� 7� %&
)(PC  9$-�: %&
� (6 )SC ( %&
� (6�<��: (TC) �
=�� �>=? �/@�	�� A�� )
�-���B$,�� 
ITU-T G.801.(  

���	
� : E� F��B$,�� �+�� �G ������ �>=? H�5PEP �
I� ������ ./�=,� .����� 7#��,�� .B$�� (6 %&
��( (LE) .�� ������ 
��� .���/ $3(
��� �(PAE).  

�
�
� ���� :0��� ��5 FJ��=�� E� �>=K�� H�5L �
I� ������ ./�=,� .����� 7#��,�� .B$�� (6 %&
�� E� F��B$,�� M�� �G (LE)(  PC (6  

SC (6  TC) �>=K�� �/@�	�� A��.(  

����
� ���� :0��� ./$# FJ��=�� E� �>=K�� H�5L E� F��B$,�� M�� �G PC (6  SC (6  TC) �>=K�� �/@�	�� A�� (���(��� ���$=��(
 �
�����)IG.(  

 �����2 1 N� .& O/
�P )
/ TIC(  PAE(  NPCE ��B$,�� Q ITU-T M.1010.  
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������ ��	 EPO 
��� 
����� 
����� ������ (ESR)����  ���� ����� ������ 
)SESR (����� ! "��#$� 
����
� 
 
%&����)BBER(3"�'�*+� ,�- .  

  LR /0�123� 4���� �	 km 2 500 = LR  

  BR����� 
�5563� 
��� 0	 
� /BR = (0 < BR ≤ 1)7  

  

 4��8�19  

 �	
��
EPO ������� ��� ������� ������� ITU-T G.828  

Lmin ≥ Llink  ≥ km 1 000 km 1 000 > Llink 

�
���� 

�	���� ���
 

(kbit/s) B1 C1 B2 C2 

ESR 1 664  (BR + 1) 
4–
10 × 5  0 

4–
10 × 5 BR × 4–10 × 2 

ESR 2 240 (BR + 1) 
4–
10 × 5 0 

4–
10 × 5 BR × 4–10 × 2 

ESR 6 848 (BR + 1) 
4–
10 × 5 0 

4–
10 × 5 BR × 4–10 × 2 

ESR 48 960 (BR + 1) 
3–
10 × 1 0 

3–
10 × 1 BR × 4–10 × 4 

ESR 150 336 (BR + 1) 
3–
10 × 2 0 

3–
10 × 2 BR × 4–10 × 8 

SESR 150 336-1 664 (BR + 1) 
4–
10 × 1 0 

4–
10 × 1 BR × 5–10 × 4 

BBER 48 960-1 664 (BR + 1) 
6–
10 × 2,5 0  6–

10 × 2,5 BR × 6–10 × 1 

BBER 150 336 (BR + 1) 
6–
10 × 5 0 

6–
10 × 5 BR × 6–10 × 2 

  
  

 4��8�1:  

 �	
��
EPO ������� ���	����� ������� ��� ITU-T G.828  

Lmin ≥ Llink  ≥ km 500 km 500 > Llink 

�
���� 

�	���� ���
 

(kbit/s) B3 C3 B4 C4 

ESR 1 664  (BR + 1) 
4–
10 × 5  0 

4–
10 × 5 BR × 4–10 × 1 

ESR 2 240 (BR + 1) 
4–
10 × 5 0 

4–
10 × 5 BR × 4–10 × 1 

ESR 6 848 (BR + 1) 
4–
10 × 5 0 

4–
10 × 5 BR × 4–10 × 1 

ESR 48 960 (BR + 1) 
3–
10 × 1 0 

3–
10 × 1 BR × 4–10 × 2 

ESR 150 336 (BR + 1) 
3–
10 × 2 0 

3–
10 × 2 BR × 4–10 × 4 

SESR 150 336-1 664 (BR + 1) 
4–
10 × 1 0 

4–
10 × 1 BR × 5–10 × 2 

BBER 48 960-1 664 (BR + 1) 
6–
10 × 2,5 0  6–

10 × 2,5 BR × 7–10 × 5 

BBER 150 336 (BR + 1) 
6–
10 × 5 0 

6–
10 × 5 BR × 6–10 × 1 

                                                      

3    ����� ���	
�BBER�
� ������ ��� .  
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 4��8�29  

 �	
��
EPO ������� ��� ������� ������� ITU-T G.826  

Lmin ≥ Llink  ≥ km 1 000 km 1 000 > Llink 

�
���� 

�	���� ���
 

(kbit/s) B1 C1 B2 C2 

ESR  > ;�$� 4��3�  (BR + 1) 
3–
10 × 2  0 

3–
10 × 2 BR × 4–10 × 8 

ESR 5-1,5 (BR + 1) 
3–
10 × 2 0 

3–
10 × 2 BR × 4–10 × 8 

ESR 15-5< (BR + 1) 
3–
10 × 2,5 0 

3–
10 × 2,5 BR × 3–10 × 1 

ESR 55-15< (BR + 1) 
3–
10 × 3,750 

3–
10 × 3,75 BR × 3–10 × 1,5

ESR 160-55< (BR + 1) 
3–
10 × 8 0 

3–
10 × 8 BR × 3–10 × 3,2

ESR  400-160< <��=> ?@ <��=> ?@ <��=> ?@ <��=> ?@ 

SESR 400≥ (BR + 1) 
4–
10 × 1 0  4–

10 × 1 BR × 5–10 × 4 

BBER 400-1,5 (BR + 1) 
5–
10 × 1 0 

5–
10 × 1 BR × 6–10 × 4 

  

 4��8�2:  

 �	
��
EPO ������� ���	���������� ���  ��ITU-T G.826  

Lmin ≥ Llink  ≥ km 500 km 500 > Llink 

�
���� 

�	���� ���
 

(kbit/s) B3 C3 B4 C4 

ESR  > ;�$� 4��3�  (BR + 1) 
3–
10 × 2  0 

3–
10 × 2 BR × 4–10 × 4 

ESR 5-1,5 (BR + 1) 
3–
10 × 2 0 

3–
10 × 2 BR × 4–10 × 4 

ESR 15-5< (BR + 1) 
3–
10 × 2,5 0 

3–
10 × 2,5 BR × 4–10 × 5 

ESR 55-15< (BR + 1) 
3–
10 × 3,750 

3–
10 × 3,75 BR × 4–10 × 7,5

ESR 160-55< (BR + 1) 
3–
10 × 8 0 

3–
10 × 8 BR × 3–10 × 1,6

ESR  400-160< <��=> ?@ <��=> ?@ <��=> ?@ <��=> ?@ 

SESR 400≥ (BR + 1) 
4–
10 × 1 0  4–

10 × 1 BR × 5–10 × 2 

BBER 400-1,5 (BR + 1) 
5–
10 × 1 0 

5–
10 × 1 BR × 6–10 × 2 

  

2   ���	9 A9EPO����� B�C�D 
E��> F�25- G����D A9 0H�=� ?5%�� I�3� J��*9� K��=�� 
��=��& 
� ! 
�LM�3� 
 N�OM����ITU-T G.826� ITU-T G.828 ?�> P> Q���� "R8� G19 P> HRP GOM�D� HRC 4��& 27 500 /2�>��OS 

A9�T��3� U�V WX�%�� B�C���� G����� A9 0H�=� I�3� �O���� W�%�� 
7����� 
�5563 Y&���� B�C���� P> "R1�   

3   ���	$ 
��=��& Z�9EPO �[�� 
O%O%- 
�&�\ 
O]�^+ 
�M� _9 P> `�a� GS U�V 
%L��3� Llin J��*9 bc 0��=D� 
 Q���� "R8� P> I�3� ��O�& 
+����� N& 
]�d�� ?�> P>HRP GOM�D� HRCWO%�� <O��D 0H�=� /�e����� 4��8� !  3 9

 
�f�g�SDH 
OM���� <T� 
��53� ITU-T G.828 4��8� !� 3
OM���� <T� 
��53� I2#$� 
�f�g� :  
ITU-T G.826 . 4���� he$� �i�Llink �	 
O%O%i� 
��i� bc ���	$� 
���%3 G����3� Lmin = 50 km.  
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 4��8�39  

 �����EPO ����� SDH ��!�!"� ��#	$�� ��%����� ��
�&��'��� ���# ������� (# �%�)�� *+, -.   
 /+
 0
 12��� 345� 0
HRP ������� ��� ITU-T G.828  

4��3� 

(Mbit/s)  
1 664 

VC-11) /(TC-11

2 240 

VC-12) /(TC-12 

6 848 

VC-2) /(TC-2

48 960 

VC-3) /(TC-3

150 336 

VC-4) /(TC-4 

ESR  0,01 × A 0,01 × A 0,01 × A 0,02 × A 0,02 × A 
SESR  0,002 × A 
BBER A × 5–10 × 5 A × 4–10 × 1 

  

 4��8�3:  

 �����EPO ��!�!"� ��#	$�� ��%����� ������ ��
�&��'��� ���# ������� (# �%�)�� *+, -.   
 /+
 0
 12��� 345� 0
HRP���6�  7HRC ������� ��� ITU-T G.826  

4��3� 

(Mbit/s) 

>  ;�$� 4��3�1,5 bc 5 5< bc 15 15< bc 55 55< bc 160160< bc 400 

ESR 0,04 A 0,04 A 0,05 A 0,075 A 0,16 A <��=> ?@ 

SESR 0,002 A 0,002 A 0,002 A 0,002 A 0,002 A 0,002 A 
(1)
BBER  > ?@=��< 4–

10 × A 2 

4–
10 × A 2 

4–
10 × A 2 

4–
10 × A 2 

4–
10 × A 1 

(1)   
���> <L��jDBBERk%T 
�?�3� U�V .  
  

lO-:  

  A = (A1 + 0.002) Llink/100   G19 P>50 km ≤ Llink ≤ 100 km  

  A = A1 + 2 × 10–5 Llink
  

 G19 P>100 km < Llink  

 
�O* A9 U�V k%T F�OX��> n��D+� o �*�A1 N& p��2�D 0,01� 0,02) 1 �9 
X�3� ! 2
X�3� !  ()2f��N�f-q3�  3� 4(  

4   ���	$ 
��=��& Z�9EPO 
]�d�� J��*9 GS Gr]dD 
O%O%- 
�&�\ 
O]�^+ 
�M� _9 P> `�a� GS U�V 
%L��3� 
 ?�> P> Q���� "R8� P> I�3� �?5*HRP GOM�D� HRC 4��8� ! �e����� WO%�� <O��D 0H�=� /4 9 
�f�$SDH 

 
OM���� <T� 
��53�ITU-T G.828 WO%����e�����  4��8� ! 4I2#$� 
�f�g� :  
OM���� <T� 
��53�ITU-T G.826.  
  

 4��8�49  

 �����EPO ����� SDH ��#	$�� ��%�����  7
	%� ��8%)�� ������� (# �%�)�� *+,/9,'���   
 /+
 0
 12��� 345� 0
HRP 7���6� HRC��� ���  ����ITU-T G.828  

4��3� 

(Mbit/s)  
1 664 

VC-11) /(TC-11

2 240 

VC-12) /(TC-12 

6 848 

VC-2) /(TC-2

48 960 

VC-3) /(TC-3

150 336 

VC-4) /(TC-4 

ESR  0,01 × B 0,01 × B 0,01 × B 0,02 × B 0,04 × B 
SESR  0,002 × B 
BBER B × 5–10 × 5  B × 4–10 × 1 
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 4��8�4:  

 �����EPO �� ��#	$�� ��%����� ���� 7
	%� ��8%)�� ������� (# �%�)�� *+,/9,'���   
 /+
 0
 12��� 345� 0
HRP 7���6� HRC ������� ��� ITU-T G.826  

4��3� 

(Mbit/s) 

>  ;�$� 4��3�1,5 bc 5 5< bc 15  15< bc 55 55< bc 160160< bc 400 

ESR 0,04 B 0,04 B 0,05 B 0,075 B 0,16 B <��=> ?@ 

SESR 0,002 B 0,002 B 0,002 B 0,002 B 0,002 B 0,002 B 
(1)
BBER  > ?@=��< 4–

10 × B 2 

4–
10 × B 2 

4–
10 × B 2 

4–
10 × B 2 

4–
10 × B 1 

 

 n��D+� o F�OX��> U�V A�]D A9 
�O*B  N& �> I�3� P�s0,075� 0,085)  P>%7,5 bc %8,5) (2f�� N�f-q3� 3� 4(7  

5   ���	$ 
��=��& Z�9EPO 
]�d�� J��*9 GS Gr]dD 
O%O%- 
�&�\ 
O]�^+ 
�M� _9 P> `�a� GS U�V 
%L��3� 
 ?�> P> Q���� "R8� P> I�3� �?5*HRP GOM�D� HRC 4��8� ! �e����� WO%�� <O��D 0H�=� /5 9 
�f�$SDH 

 
OM���� <T� 
��53�ITU-T G.828 �8� ! WO%��� 4�5I2#$� 
�f�g� :  
OM���� <T� 
��53�ITU-T G.826.  

  

 4��8�59  

 �����EPO ����� SDH ��#	$�� ��%�����  7
	%� ��8%)�� �%�: *+,;	<&��12��� 345� 0
   
 /+
 0
HRP ������� ��� ITU-T G.828) >?�� �?@��� 6(  

4��3� 

(Mbit/s)  
1 664 

VC-11) /(TC-11

2 240 

VC-12)/ (TC-12 

6 848 

VC-2) /(TC-2

48 960 

VC-3) /(TC-3

150 336 

VC-4) /(TC-4 

ESR  0,01 × C 0,01 × C 0,01 × C 0,02 × C 0,04 × C 
SESR  0,002 × C 
BBER C × 5–10 × 5 C × 4–10 × 1 

 

 4��8�5:  

 �����EPO � ��#	$�� ��%����� ����� 7
	%� ��8%)�� �%�: *+,;	<&��� 345� 0
 12��  
 /+
 0
HRP 7���6� HRC ������� ��� ITU-T G.826) >?�� �?@��� 6(  

4��3� 

(Mbit/s) 

>  ;�$� 4��3�1,5 bc 5 5< bc 15  15< bc 55 55< bc 160160< bc 400 

ESR 0,04 C  0,04 C 0,05 C 0,075 C 0,16 C <��=> ?@ 

SESR 0,002 C 0,002 C 0,002 C 0,002 C 0,002 C 0,002 C 
(1)
BBER  > ?@=��< 4–

10 × C 2 

4–
10 × C 2 

4–
10 × C 2 

4–
10 × C 2 

4–
10 × C 1 

n��D+� oF�OX��> U�V A�]D A9  
�O* C  N& �> I�3� P�s0,075� 0,085)  P>%7,5 bc %8,5) (2f�� N�f-q3� 3 �4(7  

6   ���	9 WOO%�� 
��=��& Z�9EPO e�=& ! ���� P> 1 bc 5t2�D / 
�M� _$ ���� lO- P> "�e$� 
����> �
0�� ��S 
O%O%-:  
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u ESR v��-9 
��� 0	  
����� ������(ES)7w�O%�� Y&���� Q>R�� GM���� "�=\9 2L�O�3� Y*��� ! ������ ;�xc bc  

u SESR v��-9 
��� 0	  ���������� ����� (SES)��� "�=\9 2L�O�3� Y*��� ! ������ ;�xc bc  Q>R�� GM�
7w�O%�� Y&���� 

u BBER v��-9 
��� 0	 
%&���� ����� ! "��#$�  Y&���� Q>R�� GM���� "�=\9 2L�O�3� Y*��� ! ����� ;�xc bc
w�O%�� . 
�2�T "�=\9 ����� BOx ����� ;�xc e���D Q����� ���������� ����� SESs. 

�?@�
 1 u ���	9 <��=D EPO�j� �>�=V k%T F�2�O�> J�f=�� y� . 2L�O��� J�V 
��- bc� P> z�2��� 4�#��� ?���> �L2�D
 N�OM���� P> 9 <{�3� !G.826� G.828 |��%�� PV ND�e�5�� ITU-T.  

�?@�
 2 u & �5%j� ���	$��e�����A9 
OM���� `}	 !  A�]D T��	9F� WOO%D �2�T A�'@ ! �~ "�T��� PLO���  G1$� 
���� 
��DF�2�� �/  ���M� �2�T _9 Z�9 N& p��2�D28 �31) 30 �e�V (��=> GS ��> 
O=>C 
��-� P> 24 
V�^ 
�&���> . 0H�=��

 ���d�� P> 2�� _9 ! ���	$� `}~ J�R��+�)2f�� 
OM���� ITU-R P.581 .( ��2�9 G�* P> K�#�3� w�O%�� �X��� 
���%3�
D+� P> �& + /Z��� ?�3� U�V 
���� "�e$� WOO%D �2�T "�& Y*� U�V n���	e���>��
LO=�3� ��2�$� N& Q>R��  .  

�?@�
 3  u 
���3� ,�=�� |��� 0H�=� + %A1 + %B + %C C����� A9 %17,5?�> P> Q���� "R8� 
���C��� F�%T�   �9
 GOM�DCBR N�OM���� ! �e����� ;���� G.826� G.828 |��%�� PV ND�e�5�� ITU-T.  

�?@�
 4 u��O�V <��3� WO%�� p��2�D F�OX��>  G19 P> %B + %C N& %15,5� %16,5.  

�?@�
 5 u��T 
�55� B�C�D �O�D A9 
���e�� P]� /
O=���� 
]�d�� 
qO]d�� F���D 
� % A� %B� %C�*9 N&  J�
_��e�� ?�> P> Q���� "R8�.  

�?@�
 6 u �t2�jD �� 
�M�i� 
O%O%&�� 0%O%i� Z���& W���� WO�%D P> e��� GOM�D �9 ?�> P> "R1 �Llink.  

�?@�
 7 u
���� A���& ! K��=�� 
�]�� 
������> P> �� |���9 ��=	  . 
�M� P> "R1 eL2� _��e�2�� ?�3� Gr]� A�T
 /K��� 
]�� W�* �9 I�3� �?5*
���e�� ��M9	$� �5i ,^�=3� B�C���� 2��%D 
�2-  4���8� ! �e����� ���4 9

�4� :5� 95 _��T �56�S :�K��� 
]�� W�%� �9 I�3� �?5* 
�M��� 
�r]d3� 2M�=��.  

�?@�
 8 u 
qM��� ;�xc U�V 
OM���� `}[ F�%T� 
126���3� ���	$� <��jD /
�R�%�� �e���> 
qM��� 
��- ! 
) �R�%�� ZOT Y�#e�9 _}�� ������� PV 2f=�� �25&NS��d3� N�%��3� N�Hd3� e�V� 
>��� !( B�C�D 
O����> B%D� 7


]�d�� 0�Hd> <D�V U�V �R�* G]� ���	$� .  

�?@�
 9  u v��-9 �t2�jD ES� SES� BBE 4�^�c e���� ������ 
O=&� SDH
OM���� ! �O����� �e�Vc J��*9�   
ITU-T G.829 /� v��-9 �t2�DES� SES� BBE
OM���� P> 9 <{�3� ! 
qOM����� 
�?���� ������ 
O=&�   
ITU-T G.826.  

�?@�
 10 u 4���8� ! "�e$� 
������ �e�5> GS� G#����� 2\9 e2� 5-1.  

�?@�
 11 u W�* P> 
�M��� ����D /
OM���� `}	 n�O^ ! )J��*9 (�/ ?�> �9)
�?�> ( GOM�D �9)
qOM�D.(  

�?@�
 12 uR���  G���^� P]�  /
OM���� `}	 <O��D ! e����� P> ��
�%{�3� 1� 2� 3.  
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 �����1  

���	
��
� ����� ��	� ����� ���   
  


OM���� `}	 �> ! �e������ GOM����& 
%r���3� 
�{��53� ��& ��> <{�3� �}	 �Ls��.  

 
OM���� ! GOM����� ?�3� ���2�D e2�ITU-T G.826d�� PLO��� / G]2 F+��> � Gr]dD 
�&�\ 
O]�^+ 
�M�?�3� P> F�"R1.  

  

 G]d��2  

/+
 0
 34B 0C �	$
  

1668-02

PEPPEP

  
  

  

  

 �����2  

 ���� �	 ����� ������! "#$� %�& �	 '�()� *�+&,SDH��-��!� ����.�!�   

1  �����  
]�^q�� ��2�3�& G���jD ��� 
OT2��� ��%=�� F�?�> 0�=D A9 ��=]� 
�&�\ 
O]�^+ 
�M� ! 
�M��� ���1 U�V Y&���� 0 F���*�

���*� 4�^��� e���F� ��O��D �e�V . N�OM���� ! e����� ��2���� <T� 
=]� 
qO]d��� GS�ITU-T G.783  
� ITU-R F.750 .�
�O]d��� N& 
�X�%�� 
*q��� <{�3� �}	 ! �e����� 
��>$� PLO�D 
�M�� ��>��6�^� P]�3� 
O�OX2�� SDH 

2��%D����� lO- P> "�e$� v��-9 ) ES� SES� BBE .( 
OM���� ! e2��ITU-R F.750 "�e$� 
�*�23 F���2�D  0V�=��
 0]�^q� Y&����
���i� G���D e�1� !.  

2   ��� ��	
��
 �����
 �� ����� ��	
��
 �����
 ���� ��� �� ���� � �������
��  
 
���& WtO%jD� ,�{jD /���O��S N�OT2��� 
�M��� ��%� !B3 �9 V5/ U�V  
�D2�� ���3� ?�3�� 
�D2�� ;�V ?�3� 4��=�D ��� 

;�����.  

 �L2�jD���� lO- P> "�e$� v��-9 
OM���� ! ITU-T G.829.  

���

   ����n ����m   ����1 
 )�	
� ���
� �����( )�	
� ������� �����(  )�	
� ���
� �����(  

������ ������� ����

 ����w ����2 ����1 
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3   ��!"# ��$� %��� ��	
��
 �����
 �� ����� ��	
��
 �����
SDH  

1.3  DD>��� E�&6 �F	G ���# H4<!�� ID	@� �	�JK� D��6 *+,  

,�{jD /���O��S N�OT2��� 
�M��� ��%� !/ 
���& WtO%jDB2 �����& �2�jD N- ! /B3� V5 
�M��� ��%� yV 
OT��d& 
G���D A�e N�OT2���.  

 �L2�jD���� lO- P> "�e$� v��-9 
OM���� ! ITU-T G.829 .* 
���%> W�� ��� ��=�� ���� lO- P> "�e$� 
����> WO
 
������ 
�^��& ��O�V 4�5i�B2 N�OM���� <T� ITU-T G.829� ITU-T G.783 F�2��%D y��jD A9 P]� ���	$� w�^9 U�V 


OM���� `}	 ! 
TL2�3� . "��#$� e�V U�V 2��%��� �}	 
*e �*��D�
%�2�� !.  

2.3  D	@� �	�JK� D��6 *+, H4<!�� IL
DD>��� E�&6 �F	G   

 
�*�2> 
�O�X��� ����D���� lO- P> "�e$� W�%�� �� W�%�� _9 /0� e�1�3� 
���T B�C�D U�V /
���i� G���D z��#
 
���e�2�� 
���i� G���D 
�O��(RPS)  
O�D�2�� 
�&���� 
O]�^q��SDH�M��� ,�- e�����  
OM���� ! ITU-R F.750.  

D 
��- ! k� P> B�C�C 
OM���� ! �t2�3� ITU-R F.750,�{jD // 
������ WtO%jDB1 ���O��S N�OT2��� 
�M��� ��%� ! 
 ��=* G]�)
O>�i� ��=%��� 
�>���� 
��=%�� _9 .(,�{jD�/ 
������ WtO%jDB2 W�* z��# ���O��S N�OT2��� 
�M��� ��%� ! 

��� W�%�� "�e9 0��D lO  
���i�F�2���> 0 . �����& �2�jD�B3� V5G���D A�e N�OT2��� 
�M��� ��%� yV .  

 �L2�jD���� lO- P> "�e$� v��-9 
OM���� ! ITU-T G.829 . W�� ��� ��=�� ���� lO- P> "�e$� 
����> WO* 
���%>
 
������ 
�^��& ��O�V 4�5i�B2 N�OM���� <T� ITU-T G.829� ITU-T G.783 P]�  F�2��%D y��jD A9���	$� w�^9 U�V 


OM���� `}	 ! 
TL2�3� .e �*��D� ! "��#$� e�V U�V 2��%��� �}	 
*�2��
%.  

 P> B�C�D 
��- !�� k�=B 
OM���� ! �t2�3� ITU-R F.750,�{jD // A�������� WtO%jDB1�  B2 N�OT2��� 
�M��� ��%� ! 
 ��=* G]� ���O��S)� 
��=%�� _9
O>�i� ��=%��� 
�>��� .( �����& �2�jD�B3� V5G���D A�e N�OT2��� 
�M��� ��%� yV .  

�O��V "�21c P]� 
��i� `}	 !NY&���� 0]�^q�� 0��� W�%�� �e�8 :  

u 0	 b�$�"�21c  ,OD2��� P> P>�R�3� G%=�� ��-� ����c �e�8 G5�=> WOO%D (STM-N)  z2�� �=V� G#��� �=V
 P> 
������ 
O�L{%D ?@ 
�*�2> <�2� PV Y&�\ 0]�^+ 0�¡ W�*B32D�  J�f=� n����� ¢�%D 2>9 �
���ec/7���e�� 

u P> kX�^��� U�V ����D 
���& 4����^� ! G���D 
O������  _9 yV 
OT��d& ��2�3� �O����� �e�Vc W�* 
>�# 
��&
 P>�R�> 4�^�c e���S G��� kO^� �2]>MS 4�^�� £�K� / 
����� 2�}dD 
O�e�����BIP _���D 
�>���>� 

BIP-8 
����� ������ EB�O���� �2��� ��2�> `�a�& 
�#����  .WLO%� A9 �O���� �2��� ��2�3 P]��  n�����
J�%� A9� z2�� �e�¤ F�2���> ���ec J�f=�/0��� Y&���� 0]�^q�� W�%�� 
O����� �e�8� ���ec. 

 
�*�23 
O��=3� `}	 4�^��� e��D W�%� !e�2��� GOM����9��3� lO- P> Z�dD 
TL2�3� 
O����� 
�D2�� 
�K 
OTe�2��� 
qOM���� 
 N�OM���� !ITU-T G.707� ITU-T G.783e���^� 
O>C���# ,r��D A�e P]� �
O�e��D  / 
����& 
M��� £��SN1 
��& P> 
 ?�> 
>�#VC-4 . 
OM���� J�%DITU-R F. 750M��D 
��¥ G���D }r�=� _}�� Y&���� 0]�^q�� "�e9 
�*�2> PV ¦�9 GO .  

4   ������
 &���# %��� ��	
��
 �����
 �� ����� ��	
��
 �����
(RS)  ��'�

�� SDH  

1.4   *+,RSDD>��� E�&6 �F	G ���# H4<!�� ID	@�   

,�{jD/ 
������ WtO%jDB1�2�jD� /���O��S N�OT2��� 
�M��� ��%� !  
����& B2 � B3� V5 A�e N�OT2��� 
�M��� ��%� yV 
G���D.  

 �L2�jD���� lO- P> "�e$� v��-9 
OM���� ! ITU-T G.829.  
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2.4   *+,RSDD>��� E�&6 �F	G 7F��6 L
   

 
�*�2> 
�O�X��� ����D���� lO- P> "�e$� W�%�� ���� 
���T B�C�D U�V /
���i� G���D z��# W�%�� _9 /0� 
�O
 
���e�2�� 
���i� G���D(RPS)  
O�D�2�� 
�&���� 
O]�^q��SDH PLO�3� �{=�� U�V 
OM���� ! ITU-R F.750.  

,�{jD/ 
������ WtO%jDB1���O��S N�OT2��� 
�M��� ��%� !   ��=* G]�)
O>�i� ��=%��� 
�>���� 
��=%�� _9( 
����& �2�jD� /B2 
�B3� V5� 
�M��� ��%� yV G���D A�e N�OT2��.  

 
�O��=3� §�� 4����^�& ���� lO- P> "�e$� 
�*�2> "�21c PLO����� ! 
=O�3� �2%�2.3 bc F�e�=�^� 
O�L{%D ?@ 
�*�2> 

����� B2 �O����� �e�Vc W�%� !e�2��� GOM���� 
�*�2> 
O��=� �9 RS.  

 �L2�jD���� lO- P> "�e$� v��-9 
OM���� ! ITU-T G.829 . |�s�>�n��D� 
����> WO* B> 
OM���� `}	  P> "�e$�
���� lO- 
OM���� <T� N�%&���� N�%�2��� I�-�& ��O�V 4�5i� W�� ��� ��=�� ITU-R F.750 P> ��R��� z��¨ 


^�����.  

3.4   *+,RSDD>��� E�&6 �F	G ���# ��4<!�� D���
   

,�{jD/ 
������ WtO%jD�B1M��� ��%� ! ���O��S N�OT2��� 
�  ��=* G]�)
O>�i� ��=%��� 
�>���� 
��=%�� _9( 
����& �2�jD� /
B2 � B3� V5G���D A�e N�OT2��� 
�M��� ��%� yV .  

 �L2�jD "�e$� v��-9 
OM���� ! ���� lO- P>ITU-T G.829.  §�� 4����^�& ����S�& 
�M��� �e�1 WOO%D P]��
! 
T�M�3� 
�O��=3�  �2%���2.3.  

5  ('! �) *�'�+
� �� ����� ��	
��
 �����
  
 WOO%D P]����� lO- P> "�e$� v��-9 ! 0��=3� 
�5�� _K W�%�� ! k%T ���O��S N�OT2��� 
�M��� ��%�.  

  

  

  

 �����3  

 ���	,/ "#$� %�& �	 '�()� ��0�1	 ��-��ESR� SESR� BBER  

 
��>$� ��& <{�3� �}	 e���������	$� z�26�^� 
OH& 
O%O%- 
qM� U�V 
OM���� `}	 <O�.  

,-�.  /���
 012
  
kO^� ��& �2��j�.  

 
�M��� 4��Llink, = km 105.  

A9 �2��j� BR _���� 1.  

 �-�� 2�� �	 WOO%��� P>C)30F�>�� .(  
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 ����1:  


����� 4��> :150 336 kbit/s VC-4) /(TC-4) 
OM���� <T� ���	$� A9 _9 /ITU-T G.828.  


�e��3� P> ���	$� ,�{jD (1) WO* }#�D� B1�  C1 4��8� P> 19.  

ESR = 2 × 10–3 (1 + 1) × 105/2 500 + 0 = 168 × 10–6  "��#9 e�VES/ 2�d��= 435  

SESR = 1 × 10–4 (1 + 1) × 105/2 500 + 0 = 84 × 10–7   "��#9 e�VSES/ 2�d��= 22  

BBER = 5 × 10–6 (1 + 1) × 105/2 500 + 0 = 4.2 × 10–7   "��#9 e�VBBER / 2�d��= 8 709  

 ����2:  


����� 4��> :140 Mbit/s 
OM���� <T� ���	$� A9 _9 /ITU-T G.826.  

 
�e��3� P> ���	$� ,�{jD(1) WO* }#�D� B1� C1 4��8� P> 29.  

ESR = 8 × 10–3 (1 + 1) × 105/2 500 + 0 = 672 × 10–6   "��#9 e�VES/�d�� 2= 1 741  

SESR = 1 × 110–4 (1 + 1) × 105/2 500 + 0 = 84 × 10–7   "��#9 e�VSES/  2�d��= 22  

BBER = 1 × 10–5 (1 + 1) × 105/2 500 + 0 = 8.4 × 10–7   "��#9 e�VBBER/ 2�d��= 17 418  

 ����3:  


����� 4��> :64  kbit /s 
OM���� <T� ���	$� A9 _9 /ITU-T G.826  

��	$� ,�{jD 
�e��3� P> �(1) WO* }#�D� B1� C1 4��8� P> 29.  

ESR = 2 × 10–3 (1 + 1) × 105/2 500 + 0 = 168 × 10–6   "��#9 e�VES/ 2�d��= 436
  

SESR = 1 × 10–4 (1 + 1) × 105/2 500 + 0 = 84 × 10–7   "��#9 e�VSES/ 2�d��= 22  

,��3�4  56��
 012
  
]dD bc `��e9 
�&��i� 
��>9 ?dD Q���� "R8� 
�O N�3� �{=�� U�V 0V�=�� G]d�� !3.  

  

 G]d��3  

 12��� 345� ���%)6MC�&��  

1668-03

PEP LE IG

  

�!�� 
"�#$%�� 

  "��& '#� �
� '#�  *��+ 

   ����4 ����3����2 ����1

  ����3 ����2   ����1 
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 ����4 : Z��� 
]�d��& ©��� K��=�� "R1202�>��OS F�
�e�-9 
�M� P> Gr]d>� :  

   
�M���L1 = km 20  

  
���� :Mbit/s 2  

� PV 
�%��> ���	$� �=s2�T� �Kc 7
��i� `}	 ! 4���C = 0,075) 2f�� �=& ���� 5 (�=���T:  

ESR = 0,04 C = 3 × 10–3   )D _���7 776  ES/2��(  

SESR = 0,002 C = 1.5 × 10–4   )D _���389   SES/2��(  

BBER = 2 × 10–4 × C = 1,5 × 10–5   )D _���77 760    EB/2��(  

 ����5 : P> ?5%�� I�3� "R1 Z��� 
]�d��802�>��OS F�
�e�-9 
�M� P> Gr]d>� :  

   
�M���L1  = km 80 

  
���� :Mbit/s 34  

 �=s2�T� �Kc 7
��i� `}	 ! 4���� PV 
�%��> ���	$�B = 0,075) 2f�� �=& ���� 4 (�=���T:  

ESR = 0,075 B = 5.625 × 10–3   )D _���14 580  ES/2��(  

SESR = 0,002 B = 1.5 × 10–4    )D _���389   SES/2��(  

BBER = 2 × 10–4 × B = 1.5 × 10–5   )D _���311 040    EB/2��(  

 ����6 : 
OM���� <T� 
��53� 
���3� G����D 
]�d�� P> I�3� G����� "R8� ! 
O%O%- 
�M�ITU-T G.826 e���V� G�* 
 
OM����ITU-T G.828 w��> ! 2000) 2f�� �=& ���� 3:(  

   
�M���L1 = km 75  

   4�^�c 4��>SDH : /P>�R�> G%� ��-�STM-1 (Mbit/s 155,52):  

ESR = 0.16 A = 0.16 (A1 + 0.002) × 75/100 

SESR = 0.002 A = 0.002 (A1 + 0.002) × 75/100 

BBER = 0.0002 A = 0.0002 (A1 + 0.002) × 75/100 

e$� A��i� 2�f� 7
��i� `}	 ! 4���� U�V ����D ���	$� 4��8� ! U5*$�� h6) A1 = 0,01� A1 = 0,02:(  
  

 4��8�6  

����N� *�,  

�
�,A1   ESR SESR BBER 

0,01  144 × 5–
10 

)= ES 3 733/2��(  
18 × 6–

10 

)= SES 47/2��( 
18 × 7–

10 

)= EB 37 324/2��( 
0,02 264 × 5–

10 

)= ES 6 843/2��(  
33 × 6–

10 

)= SES 86/2��( 
33 × 7–

10 

)= EB 68 429/2��( 

 �����1 ����� ��� 	
�� 
� ���� ��� ������ ������� �!"
� .  
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 ����7 : 
OM���� e���V� ��& 
��5> 
���> G����D 
]�d�� P> I�3� G����� "R8� ! 
O%O%- 
�M�ITU-T G.828 ! 
 w��>2000) 2f�� �=& ���� 3:(  

   
�M���L1 = km 75  

   4�^�c 4��>SDH :�R�> G%� ��-� /P>STM-1 (Mbit/s 155,52):  

ESR = 0,04 A = 0,04 (A1 + 0,002) × 75/100 

SESR = 0,002 A = 0,002 (A1 + 0,002) × 75/100 

BBER = 0,0001 A = 0,0001 (A1 + 0,002) × 75/100 

 4��8� ! U5*$�� he$� A��i� 2�f� 7
��i� `}	 ! 4���� U�V ����D ���	$�7) A1 = 0,01 �A1 = 0,02:(  

  

 4��8�7  

����N� *�,  

�
�,A1   ESR SESR BBER 

0,01  36 × 5–
10 

)= ES 933/2��(  
18 × 6–

10 

)= SES 47/2��( 
9 × 7–

10 

)= EB 18 662/2��( 
0,02 66 × 5–

10 

)= ES 1 711/2��(  
33 × 6–

10 

)= SES 86/2��( 
165 × 7–

10 

)= EB 34 214/2��( 

 �����1 � #�
$% & ������� �
�'������� ��� 	
�� 
� ���� ��� .  

 ����8 :©��� K��=�� "R1 P> GOM���� ����� 
]�d��&  
�e�-9 
�M� P> Gr]d>�L1  �[��102�>��OS 
� "R8� P>� 
 
�e�-9 
�M�& G�]d3� 
]�d�� P> I�3� ?5%��L2 �[�� 1002�>��OS :  

  
�M��� ;�x�� 4���� L1 + L2 = km 110  

  
���� :kbit/s 64  

 ���	$�U�V ����D + �=s2�T� �Kc 7
��i� `}	 ! 4���� B + C = 0.16) 2f�� �=& ���� 4� 5
f-q3��  4 (�=���T:  

  ESR = 0,04 (B + C) = 6,4 × 10–3  )«T�]D 16 589 ES/2��(  

  SESR = 0,002 (B + C) = 3,2 × 10–4  )«T�]D 830 SES/2��(  

  

¬¬¬¬¬¬¬¬¬¬  
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